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ANSWERS 

1 c) A = {x: x = n3 + n, n ∈ W, n < 5} 10 b) 4i 

2 c) Al ∩ Bl 11 a) 3024 

3 a) x = 
3

4
 , y = 

33

4
 12 (d) {1, 2, 3} 

4 d) 2mn - 1 13 a) x ∈ (10, ∞) 

5 
b) 

2𝜋

3
 

14 c) [0, ∞) 

6 c) 0 15 d) {(-1, 1), (1, 1), (2, 4)} 

7 a) 0 16 c) 120 

8 b) 0 17 d) 64 

9 c) { } 18 d) a2 + b2 = c2 + d2 

19 (A) Both A and R are true and R is the correct explanation of A   

20 (B) Both A and R are true but R is NOT the correct explanation of A   

21 

 
- OR     - 

 

  

 

  

 

22   

  

 = 2 

23 30 < 
5

9
 x (F – 32) < 35, 

 9

5
  x (30) < (F – 32) < 

9

5
 x 35 

54 < (F – 32) < 63 

86 < F < 95 

24 

 
- OR    - 
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25 

  

                 

26 (i)   A – B = {2, 3, 5, 7} − {1, 2, 3, 4, 6, 8} = {5, 7} 

       A ∩ BC = {2, 3, 5, 7} ∩ {5, 7, 9, 10} = {5, 7} 

       A – B = A ∩ BC 

(ii)  A ∪ B = {2, 3, 5, 7} ∪ {1, 2, 3, 4, 6, 8} = {1, 2, 3, 4, 5, 6, 7, 8} 

       (A ∪ B)C = U − (A ∪ B) = {9, 10} 

       AC ∩ BC ={ 1, 4, 6, 8, 9, 10} ∩ {5, 7, 9, 10} = {9, 10} 

        (A ∪ B)C = AC ∩ BC 

28 
 

(ii) R={(2,1),(4,2),(6,3),(8,4),(10,5), 

             (12,6),(14,7),(16,8),(18,9),(20,10)} 

 

Domain = {2,4,6,8,10,12,14,16,18,20} 

Range = {1,2,3,4,5,6,7,8,9,10} 

 

     

 

 

    
(i) f + g = 1 + 0 = 1   &   f + g = - 1+ 1 = 0 

(ii) 
𝑓

𝑔
 = 

1

0
 = Not defined  &  

𝑓

𝑔
 = 

−1

1
 = -1 

27 

 
- OR  - 
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-Or- 
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31 

 

 

 

32 

 

(i)  

 

(ii)  

 

33 

 

 

 

- OR    -  

   Also  

 

 

 

         

 

        

 

34 5(2𝑥 − 7) − 3(2𝑥 + 3) ≤ 0 

⇒ (10𝑥 − 35) − (6𝑥 + 9) ≤ 0  

⇒ 4𝑥 − 44 ≤ 0  

⇒ 4𝑥 ≤ 44  

- OR  -   
-  
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⇒ 𝑥 ≤ 11 

Also, 2𝑥 + 19 ≤ 6𝑥 + 47  

⇒ 19 − 47 ≤ 6𝑥 − 2𝑥  

⇒ −28 ≤ 4𝑥  

⇒ −7 ≤ 𝑥  

From (1) & (2), the solution is [−7, 11] 

 
According to question we have,  𝑥 > 5………………(1)  

Also, the sum of the two integers is less than 23.  

⸫ 𝑥 + (𝑥 + 2) < 23  

⇒ 2𝑥 + 2 < 23  

⇒ 2𝑥 < 21  

⇒ 𝑥 < 10.5 ………….(2) 

From equation (1) and (2), we get 5 < 𝑥 < 10.5.  

The possible values of 𝑥 are 6, 8 and 10.  

The required possible pairs are (6, 8), (8, 10) and (10, 12).  

35 

 

 

 

 
SD = √2276 = 47.7 

36 

(i)  

(ii) Domain :                  

    Range :  

37 (i)    n(Only Music) = n(M) − n(M∩D) = 55 – 20 = 35 

(ii)   n(M ∪ D) = 55 + 45 – 20 = 80 

(iii)  (a) n(Only Dance) = 25  

              n(Neither) = 100 − n(M∪D) = 100 – 80 = 20 

              An: 25 + 20 = 45 

38 (i) The digits which can be used are, 6, 5, 4, 2, 1 

Number of ways to fill the 5 places = 5! = 120 

(ii) Digits which can be used in AC code are 7, 8, 9 

Total AC code = 3P2 = 3! = 6 

(iii) If AC and PC are fixed then only 5 digits is to be filled if digits can repeat then total ways = 105
 

- OR   - 

Total ways = 5 × 5 × 5 × 5 × 5 = 3125        
 


